Question 15

Not yet answered
Marked out of 1.00

\” Flag question

An electron with an initial velocity of
4X10°m/s in x-direction enters a region; in
which the electric field is 400 N/C.in x-
direction What is the speed of the electron at
2 nanoseconds is after enters the electric

field

Select one:
O a. 8x10°m/s

O b. 2.8 X10°m/s

O ..
4.0 X10°m/s

O d. 2.6 X10°m/s

O e.5.4 x10°m/s
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Two uncharged metal spheres, Lo and M, are In contacl, A nagoli
not touching It, ag shown, The two aphoros are slightly separiloe
rosull:

L. M

insulating sup ports

Select one:;
a. L is positive and M is negalive

' b. both spheres are neutral
- ¢. Lis negative and M is positive
d. both spheres are negative

© e. both spheres are positive

_Clear my choic

e

|

. l- 4

y. 4
LI o ¥
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ST LT

. What is the magni i i ‘o Quiz nar
- [ \I ik gnifude of the electric field at point P due fo fhe two fixed charges as _ )
answered - AR ‘
Marked out of 5.0x107°C
. 1.00

ST
\l question [

Finish aftem

‘VFIcg @'_*—;'ag————E"P

(]
—
S
=

Time left 0:1:

———— —-

d) ROx107°C

: [
Select one:

a 94 x 10°N/IC
b.1.3x 10°N/C

c. None of these

d.39x 10°N/C

€ 30x 10°NC
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wo particles. each with charge Q, an
a charge q are placed at the vertices of an equilateral

triana'e Qs shown. The 1otal force on the partticle with charge
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1 itc.birzeit.edu/mod

Consider a line of charge of length L that has a linear charge
density | that is located on the x axis beginning atx=d.
Which one of the following expressions allows one to
calculate the electric field at the origin

Select one:

Adrg, 70 X
A J-L dx
O c. = —
d7wg, *0 x
A rLdx
d F = j 5
drg, *d x°

=4

—
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Charge is distributed uniformly on
the surface of a_spherical
nonconducting shell. A point particle
with charge q is inside. The
electrical force on the parllcle qis
least when:

Select onke:

(O a.itis at the center of the shell

O b. all of the above (the force is
zero everywhere inside)

O c. it is halfway between the shell
center and the inside surface

O d. itis near the inside surface of
the shell

O e.itis near, but not at, the
center of the shell
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_ Particle 1 with charge g1, and particle 2, with a charge ga.
~ are on the x axis, with particle 1 at x = a with and particle 2 af
" x=-2a. For the net force on a third charged particle, af the

origin to be zero g1 and ga must be related by g2 =

‘select one:
]'____:O-c:i_.'dql'_ '
 Ob-1g

| .'O; c.—qi/4 .:.
O .d..2q'1 i
. O e.——[gql

A,
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Question 12

Not yet answered
Marked out of 1.00

V" Flag question

Two particles are separated by a distance d.
Particle A has a charge +Q and particle B
has a charge +3Q. At what distance from
particle A along the line connecting particles
A and B would you place a third charged
particle such that no net electrostatic force
acts on it?

Select one:
O a.d?

O b.dm9
O c.d/3
O d. d/4
O e.d6
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A coulomb is the same as:
Select one:
O a. an ampere. second

O b.an ampere/second

O c. half an ampere . second”

O d. an ampere / meter>

O e. a hewton . meter2
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A solid, cdnductihg sphere of radius

" 4.0 cm has nonuniform volume

~ charge distribution p that is a

~ function of radial distance r from the

center of the sphere: p = Ar? . for A

- =-2uCim*, what s the electric field
at r=1.0 din '

i Select one:

' '. a. 3.6 N/C, Inward the sphere -
..-_O b. 56N/C outward the sphere
| __. c. 5.6 NIC, Inward the sphere
._'.dZero e |
. O e 3 6 N/C outward the sphere
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{ Quastion 18| Two pariicles are separated by a distance d. Particle A has a charge +Q and particle B has a

Not vet | charge +3Q. At what distance from particle A along the line connecting parflcles A and B would
pukwerad you place a third charged pariicle such that no net electrostatic force acts on it2
- Marked ouf of
$0 Select one:
R oo O a.d/9
qusestion
QO b.d/é
C c.d/3
_ d.d/2

e.d/4
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Marked out of 1.00

v Flag question

A cylindrical wastepaper basket with a 0.15-
m radius opening is in a uniform electric field
of 300 N/C, perpendicular to the opening.
The total flux through the sides and bottom
is:

Select one:

O a. can't tell without knowing the areas of
the sides and bottom

O b.280 0 N.m%C
O c. 21 0N.m%C
O d.0N.m?/C

O e.420N.m%C

Question 2

Not yet answered
Marked out of 1.00

V" Flag question
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Three poinl charges ore located on the xy plone asfollows: @ =2.0 uC at y=46.0cm, Q;=8.0 uC at x=8.0cm and Q;=-8§0
ot x=-8.0cm. What ic the Electric fisid on Q43

3=lect one:
O 0.-1.15X10° N/C In x girection

O b.1.15% 107 N/C In x girection

QO c.-86x 10 N/C Inx diraction

O 4d.4%10°N/C Inx direction

D 2. -846X10*N/C Iny dirsclion
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Dashboard / My courses
!/ GENERAL PHYSICS 2-1193 -Meta / General
!/ First Exam

Question 11
Not yet answered
Marked out of 1.00

Y Flag question

Consider the conducting spheres labeled A,
B, and C shown in the drawing. The spheres
are initially charged as shown an the left,
then wires are connected and disconnected
in a sequence shown moving toward the
right. Whatis the final charge on sphere C at
the end of the sequence

q=+20Q Q=0

® ® ®
- - -
® ®

Select one:
QO a.+Q/3

O b.+30Q
O c.+QR
O d.+Q

O e.+2Q

Clear my choice
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A ncgatively charged rubber rod is brought near the top disk of an clcclmscopc, which has
already been charped positive. The result 1s that

a. clectroscope indicator will move farther away from vertical
b. the rod will lose its charge,
c -

electroscope indicator will tend to go back to vertical,
d. clectroscope will become discharged,
c. nothing noticeable will happen.

7. Two identical charges, 2.0 m apart, exert fun:c:s of magnitude 4.0 N on cach other. The value
of cither charge is
a. 1.8x109C,
b. 2.1x105C,
c. 4.2x10°5C,
d. 1.9x103C,
c. 38x10°C.
8. Two protons (pj and p2) and an eletron (¢) lie on a strai F,hl line, as shown. The directions of
the force of p2 on py, the force of ¢ on py, and the total force on py, respectively, arc.
B P ?
., —, -,
b. «,—>, >,
c" _" L] L]
ll- “- _.l —'
€. 4, —,
9.

An clectric ficld is most dircetly related to

n. the momentum of a test charge,

b. thekinctic energy of o test charge,

¢. the potential energy of a test charge,

d. the force ncting on a test charge,
c. the charge carried by a test charge.

10. The units of the eleetrie ficld are

. N-C2,
b. C/N,
c. N,

d. N/C,
e. C/im?

11. Choose the comeet statemeni(s) concerning clectrie ficld lines

a. [eld lines may cross,

L. field lines mre close together where the field is large,
<

. Meld lines point sway from positive charges,
d. !

o point charge released from rest moves along a ficld line

c. nonc of these are correct.

12. The diogram shows the electric

~
ficld lincs duc 1o 1wo charged e 4 - h\__mﬂﬂ
T parallel metal plates. We conclude N N Y / paes
— that down X -
\] n. the apper plate s

¢ @ A | ™
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A charged insulator can be discharged by
passing it just above a flame. This is because
the flame:

Select one:

Q a. contains ions

O b.warms it
O c¢. contains carbon dioxide

(O d. contains more rapidly moving atoms

O e.dries it
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An electron with an initial velocity of 4X10°m/s in x-
direction enters aregion; in which the electric field is 400
N/C.in x-direction What is the speed of the electron at 2
nanoseconds is after enters the electric field

Select one:
O a. 8x10°m/s -

O b. 2.6 X10°m/s
O c.5.4 x10°m/s
O d. 2.8 X10°m/s

QO e.
4.0 x10°m/s
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Question 9

Not yet answered
Marked out of 1.00

V" Flag question

As used in the definition of electric field, a
"test charge":

Select one:

O a. none of the above
O b. has zero charge

O c. has charge of magnitude 1.6 x 10™°
C

O d. must be a proton

O e. must be an electron

Question 1 0

Not yet answered
Marked out of 1.00

\~ Flag question
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‘C ":i}]l‘ ! ! l‘ \ | ' ||I r‘l

'ﬁhe dlagram shows a partlcle with e

posmve charge Q and a particle with
negatlve charge waQ. The electric

fleld at pomt P on the perpendlcular
blsector of the Ime Jomlng themis:

-XP

| il' +Q.

Select dne -

- . a rlght .
. b south '.5:.?;7? L
@c North-w Bl
@ d Ieft ‘

. e. ze ro
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,I L'f.‘.'"'._'f..lf:'-"“-' pedienfi
f 2 HH The diagram shows the electric field |

i Nnt yet | lines in a region of space containing
answered '
- two small charged spheres (Y and |
| ;M_arked out of Z). Then:
1.00 g |

V" Flag

Gl i\@é AW

3 @
TE

Select one:
© a.Y and Z must have the same
sign

QO b.

The magnitude of the electric
filed is the same everywhere

O«
Y is negative and Z is positive

O d. Y is positive and Z is
negative

O e. the electric field is strongest
midway between Y and Z

Scanned with CamScanner



Question 2
Not yet

Consider the five situatfions shown. Each one contains either a charge g or a charge 2g. A Gaussian
surface surrounds the charged particle in each case. Considering the electric flux through each of the
‘answered | Gaussian surfaces, which of the following comparative statements is correct
Marked out of ' ‘ .
1.00

S O S
|

- =
~
i A \
\
= ¥ Hag Case 4 b
| question & \‘
= !
b 3 /
b ¥ 2R
| /
= e < //
5
&
i

T3

Select one:

0a®=0,>0,=0,
O b. (I)4>(I)3[“}(D:>(D1
. C_q)l:cps;»d)z:d)*
a @, =D, >0, =0,
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Breskon 18
| Not yet
! cnswered
Morked out of
L1.00

I ¥ Hog
:[ question

A posilively charged object is located fo the left of a negatively charged object as shown. Eiectric
field lines are shown connecting the two objects. The five points on the electric field lines are
labeled A, B, C, D, and E. At which one of these points would a test charge experience the smallest

force?
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T -

Two negalively-charged objec!s are located on the x axis, equally distant from the origin as shown. | |

Conslder the electric fleld at the point P1. How will thal electric fleld change If a third object with a b
charge +q s placed al point P22 Nole: Ihe poinl P2 is the same distance from the origin as the point |
P1 and Ihe magnitude ol each of the charges Is the same

Y Flog
queslion

P,

-q

Select one:
10 a. The magnitude of the electric fleld will
decrease by 25%.

1D b. The magnitude of the elactric field wil
decrease by 50%.

G M A=l )
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| :;qua‘ré | at is t
~ direction of lha nat Blectnc field at th"’ : i

& a.

labeled P? u".i.!!?'el'\u ! ”flﬂ‘i"".ﬂl: ‘ |

+2q

toward the middla c}f thra ii
of the squarﬁ

. b.Thereis mo dzmcﬁmm@ h
field at P is mm ML i

towazd lhcr Imwer rugint r"r;:v't' i
cafthc: squaw | habn

f squarl:ai L

Scarihlédi‘Witr"l 'CamScanner



positively charged insulating rod is brought close to an object that is suspended by

a string. Ifithe object is repelled away from the rod'we can conclude

Select one:

O a. the object is negatively charged
O b.the object is aninsulator

' c.none of the above

L d. the object is a conductor

U e.the object is positively chorged
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Question ¥4 Biwo parh es have charges @ and S (equal magmfude ond

Not yet-*
ot ve N OPpOsiTe s:gn) Forﬂnef force of zeroifolbe exerted on a 1h|rd =
~answered smem —
- Merked out of -
1.00
¥ Flag
quesiion e
ST '- ., els no plc:ce}
cf on Th-ﬂ Ilnc Jommg Q c:nd —Q e _T side 0f -G opposite § o
e g o] i , Time leit 0:
g

on the lins o:mr.o @ and @*o The side of Q opposi

e midway betwesn Q and -Q 1 1 e s P el i
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The figure shows five protons that
~are launched in a uniform electric
field ; the magnitude and direction of
the launch velocities are indicated.
Rank the protons according to the
magnitude of their accelerations due
to the field, greatest first-
E
Jm/s 5m/s - m/,‘; .
@ e -
. b - d /7#
au\ ¢ |
10 m/s 16 m/s | [
Select one: ,
O a.e,b,c=ab
@ b.b,e,de,a
@.c¢. a=b,d,c.e
© d. a=b=c=d=e
O e.a=c=b=d, e
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Three point charges are located on
the xy planeas follows: Q4 =2.0 xC
at y=6.0cm, Q,=8.0 xC at x=8.0cm
and Q3=-8.0 4C at x=-8.0cm. What
is the Electric field on Q47?

Select one:
O a. 1_15_><1o7 N/C In x direction

O b.-1.15X107 N/C In x direction
O c¢.-8.6X105N/C In x direction
O d.6x108N/C In x direction

O e.-8.6X108N/C Iny direction
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r:?"e”b" 12 A nel charge of +Q is Iransferred lo a spherical conducling shell of inner radius o and outer radius b. A peint charge —10 gis i

i Hol yst 0 ploced in the center of the shell (as shown below), Whal is Ihe charge densily on the outside of the conducling shell:
answere

| Morked out ol
1.00

¥ flag
quastion

Selec! one.,

- Q.
o« -10gf4 n b

Boa = (10g - Q)4 n b

) Qranl

4]

I (R L S TV TV
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A hollow conductor is positively
charged. A small uncharged metal
ball is lowered by a silk thread
through a small opening in the top of
the conductor and allowed to touch
its inner surface. After the ball is
removed, it will have:

Select one:

(O a. a charge whose sign
depends on what part of the
inner surface it touched

O b. a negative charge

O c. a charge whose sign
depends on where the small
hole is located in the conductor

O d.no appreciable charge

O e.a positive charge
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A physics instructor in an anteroom charges an

electrostatic generator to 25 uC, then carries it

into the lecture hall, The net electric flux through
:the lecture hall walls is N

Select one
Q.28 % 108 N.m</C O

b.0N.m*/C |
c.25 x 10¢ Nm-/C

cl. can't tell uriless the lecture hall dmens.ons L4

(/I'"""""-'-'"‘I'.‘:r11
firiibsisissetdinll

aaaaaa

HO™M @ P m e 9
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The diagram shows the electric field lines in aregion of space
containing two small charged spheres (Y and Z). Then:

Select one:

) a.Y and Z must have the same sign

J b,
Y is negafive and 7 is positive

C
The magnitfude of the electric filed is the same
everywhere [}

d. Y is positive and I is negative

- v =l mtetes Filmlal in ad e g P R W PR C 5 R B
e, the elecinic tield is sirongest Miaway between Y and /
rFOsiTIve CharQe ace a conduchng snherical shs
11 NNErrQdius R QN cuter rQcius £ = oot i1 G ':'“
. . - - - i T i i I
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A positively charged object is located to

the left of a negatively charged object

as shown. Electric field lines are

shown connecting the two objects. The

five points on the electric field lines are |
labeled A, B, C, D, and E. At which ‘
one of these points would a test charge
experience the smallest force?

D
Scanned with CamScanner



12

vestion 17
Not yet
| answered

|
|
|
!
I

|
Marked out of
1.00

¥ Flag
question

-

— e e R

—_—

T

Two negatively-charged objects are

= ' , G
located on the x axis, equally distant from the origin as shown.
Consider the electric field at the point P1. How will that electric field change if a third object with a ;
charge +qis placed at point P22 Note: the point P2is the same distance from the origin as the point E
P1 and the magnitude of each of the charges is the same i
17
P,
Finiis
R
Time
= R R —(
q q
R
Py

) a. The magnitude of the electric field will

[ e by 2597
incremces 5

cill.

S RPN
e Gt kit S b it i i e ol v
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A 3.5-cm radius hemisphere conlains a fotal charge of 6.6x 107 C. Thsﬂuxﬂunug':lhgrnw
portion of the surface is 9.8 x '10* N.m?/C. The flux through the flat base is:

Select one:
C 0.2.3.x 10* N.ni?/C

O b.-9.8 x 104 N.m¥C |
O e. ON.m?/C :
D d.-2.3 x 10° Nm*=/C

O e, 9.8 X104 N.m?/C
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D ——

orners of a square ds

harges are located on the C
direction of the net electric

Four C
shown in the drawing. What is the

field at the point labeled Pe

+29 4 _—q
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At a distance of one centimeter from an electron, the electric field strength has a value E. At what distance is the electric
field sirength equal to E/22

Select one:

O a.32cm
O b.0.5cm
O c.4.0cm
O d.l.d4cm

2 e.20cm
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Charge is distributed uniformly throughout the volume of an
infinitely long solid cylinder of radius R, what is the electric

field when r<R

Select one:
O a.E=pr/2e

O b.Zero - N |
O c.E=pr¥/2e

O d.E=pR/2¢

O e.E=pR?/2¢
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A positively charged object is located to
the left of a negatively charged object
as shown. Electric field lines are

shown connecting the two objects. The
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A point particle with charge

: qis placed inside a cub b
at its center. The ele tri P
o cinc flux through any one side of the

Select one:

- Q.is zero
) b.is q/ée
'} C.1s /e

' d. is g/4e

e, cannot be computed using Gauss' law
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"UNIVERSITY

i T e T T T T pa——

ENERAL PHYSICS 2-1193 -Me

coard / My courses / GENERAL PHYSICS 2-1193 -Meta / Gene

he units of the electric field aref

Select one:

’k'.EC!l C‘\-‘% Df ’-\l O JJC

b, J/(C/m)

‘__.l C. _I,.r"‘ﬂ-i

. J/C l’}
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Positive charge Q is placed on a
conducting spherical shell with inner
radius R4 and outer radius R, A point
charge q Is placed at the center of the
cavity. The magnitude of the electric
field at a point in the interior of the
conductor a distance r from the center
IS:

Select one:

O a.0

QO b. ka/r?
O c. kQ+qg/r?
O d. kQ/ R42
O e. kQ/ R,?
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Charge is disfributed uniformly on the surface of a spherical
nonconducting shell. A point particle with charge g is inside.
The electrical force on the particle g is least when:

Select one: [}

O a.itis halfway between the shell center and the inside
surface

O b.itis near the inside surface of the shell
O c. all of the above (the force is zero everywhere inside)
O d.itis near, but not at, the center of the shell

O e.itis at the center of the shell
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Positive charge Q is placed on a conducting spherical shell with inner radius R, and outer radius R, A
point charge qis placed at the center of the cavity. The magnitude of the electric field at a point in
the interior of the conductor a distance r from the center is:

Select one:
O a. kQ+q/r?

O b.0

O ¢.kQ/R,?
O d. kg/r?
O e.kQ/ R
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Question 19
e Positive charge Q is placed on a conducting spherical shell with inner radius Ry and outer radius Ra.

Not yet P + '
nm:ered The electric field at a point r <R, is:
Marked out of
1.00
¥ Flog Select one:
question O a.kq/8r

O b.KQs? [

C. KC‘MR':

d. KQ/(R,>r7)
e.0
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Charge |
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shboc_rd ) My courses’ /- CENERALPHYSlCSEH‘?’I Meiq |c1rc:1| / ‘Flrsf E/dm

AT conduchng sphere ofra i0s | 5
densn‘y on the sphereE —— :

SeleCT one :
=N=9) ) a. :zﬂxm? cm
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Charge is disfributed uniformly on the surface of a spherical
nonconducting shell. A point particle with charge g is inside.
The electrical force on the particle g is least when:

Select one: [}

O a.itis halfway between the shell center and the inside
surface

O b.itis near the inside surface of the shell
O c. all of the above (the force is zero everywhere inside)
O d.itis near, but not at, the center of the shell

O e.itis at the center of the shell
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7= GENERAL PHYSICS 2- | Question 9
1193 -Meta Mot yet

answersd

U Badgss Marked out of
1.00

& Competencies Vs
question

i Crades

3 Topic 1 L

3 Topic 2

3 Topic 3 Question 10 |
Not yet

J Topic 4 answered
Marked out of

& Topic 5 1
¥t Flog

0~ TOpiC 6 I question

3 Topic 7

Charge is distriouted uniformly on the surface of a spherical

nonconducting shell. A point particle with chargs q is Inside.

The electrical force on 1he particle gls least when:

Select one:

O a.itis near. but not at. the center of the shell

O b.tis near the inside surface of the shell

O c. itis halfway between the shell center and the inside
surface

O d. all of the above [the force is zero everywhere inside)

O e.itls at the center of the shell

A charge of -2e Is located at the origin and a charge +2els
located on the y axis at y= 1.00um. Itisin an electric field of
strength 3X10°N/C In positive x direction. Calculate the
magnituds of the torque on the dipole?

Select one:
O a.9.6x107N.m
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Two large conducting parallel plates carry charge of equal magnitude, one positive and the other negative, tha
~ distributed uniformly over their inner surfaces. Rank the points 1 through 5 according fo the magnitude of the ele
the points, least fo greatest. 3
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Select one:
O a.2and 3 tie, then 1 and 4 tie, then 5

C b.2and 3tie, then 1 and 4 GnQS tie
QO c.1,2.3.4,5

| O d.1 and 4 and 5 tie, then 2 and 3 tie
B Ollesb.413,9: 1
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| Question 18 Two particles are separated by a distance d. Particle A has a charge +Q and particle B has a
- Notyet charge +3Q. At what distance from parlicle A along the line connecting particles A and B would

‘ BT you place a third charged parficle such that no net electrostatic force acts on it?
| Marked out of
L Select one:
¥ Flag O a.d/9
! guestion
O b.d/3
O c.d/4 '
O d.d/2
O e.d/é
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Tnres point charges ars located on the xy plane as follows. Gy =2.0 pC at y=8.0cm, 8=8.0 pT ot x=8.0cm and G;=80 T

at x=-8.0cm. What [s the Beclric fisld on G, 2

Salact ona:
O 2. -1L.18x 1CTNC In x cirecticn

O & L15x 107 N/C In x diraction
O = 846X10°N/C In x dr2chon

O d. éx10* N/C Inx direcfion

O 2. -84X1C*N/C Iny girection

Two porficles. X and Y, are 4 m opart, X has o chorge of Z0 ond Y hos o chorge of O, The forceof Xon Y

Selactore
C @.hashalf the magritude af tre force st Yon X

O & has four fimes the magritude of the forcz of Yon X

O c. hostwice ths maognifuss of the forc= of Yon X
O da.hos ons-fourth the mogrituds of the force of Yor X

O e, haos fhe soms maognituc=s as the force of Y on X
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The figure shows five protons that are
launched in a uniform electric field ; the
magnitude and direction of the launch
velocities are indicated. Rank the protons
according to the magnitude of their
accelerations due to the field, greatest first

Im/s am/ss =
._TD Ganig /m/s
) o
ﬂ\ r T /f
10 m/s 16 m/s
Select one:
O a.a=bd,ce

O b. a=b=c=d=e
O c.bede,a
O d. a=c=b=d, e
O e.eb,c=a,b
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Charge is disfributed uniformly on the surface of a spherical
nonconducting shell. A point particle with charge g is inside.
The electrical force on the particle g is least when:

Select one: [}

O a.itis halfway between the shell center and the inside
surface

O b.itis near the inside surface of the shell
O c. all of the above (the force is zero everywhere inside)
O d.itis near, but not at, the center of the shell

O e.itis at the center of the shell
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Charge is distriouted uniformly on the surface of a spherical

nonconducting shell. A point particle with chargs q is Inside.

The electrical force on 1he particle gls least when:

Select one:

O a.itis near. but not at. the center of the shell

O b.tis near the inside surface of the shell

O c. itis halfway between the shell center and the inside
surface

O d. all of the above [the force is zero everywhere inside)

O e.itls at the center of the shell

A charge of -2e Is located at the origin and a charge +2els
located on the y axis at y= 1.00um. Itisin an electric field of
strength 3X10°N/C In positive x direction. Calculate the
magnituds of the torque on the dipole?

Select one:
O a.9.6x107N.m
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Sele

1 one:

1 TOa/cirel - = ¥4 o .
A. 1oward the upper left corner of

D. There is no direction. The electric field at P is zero !
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